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Figure�6:�At�any�given�time,�the�machine�ahs�some�unique�state.�The�machine�reads�the�tape�in�
one�motion (in this�case left to�right)�and�the�state�changes depending�on the�value�of�the�current�
square.�When the�reaches the�stop�state (signaled by�the�#�sign, the�machine�returns�a yes�or�no�
answer�- an�accept�or�reject�state�respectively.)�

The�simple�way�of�thinking�of�a�finite�automaton�is�that�it’s�a�crippled�computer�that�can�only�
move�along�memory�in�one�direction.� As�shown�in�figure�6,�a�computer�with�some�information�
written�along�a�tape,�in�some�sort�of�encoding,�will�scan�this�tape�one�square�at�a�time,�until�it�
reaches�the�stop�symbol.� The�output�of�this�machine�will�be�a�yes�or�no�- accept�or�reject.� This�
will�be�the�machine’s�answer�to�some�question�that�it�was�posed�about�the�input.�

5.2� State�and�internal�configuration�
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Figure�7:�This�simple�machine�has�3�states.�Given�an�input�of�0�or�1,�the�state�will�transition�to�
a�new�state.�The�final�state�will�determine�its�output�- accept�or�reject.�

It� is� unnecessary� to� determine�what� the� internal� configuration� of� this�machine� is.� We� can�
abstract�this�notion�into�the�statement�that�this�machine�will�have�some�state�and�the�ability�to�
transition�between�states�given�a�certain�input.�The�machine�will�begin�with�a�start�state,�before�
it�has�read�any�input.� When�the�machine�reads�the�stop�symbol,�the�correct�state�will�determine�
if�the�machine�should�output�an�accept�or�reject.�

It�is�crucial�that�we�define�the�machine�as�having�a�finite�number�of�states.� If�the�machine�had�
an�infinite�number�of�states,�then�it�could�compute�absolutely�anything,�but�such�an�assumption�is�
physically�unrealistic.�
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